
ADDENDUM TO INSTALLATION INSTRUCTIONS

RESIDENTIAL LOW HEADROOM
MODIFICATION By

CARRIAGE BOLTS
5/16" X 3/4"
(QTY. 4)

TOP FIXTURES
(QTY. 2)
(RH SHOWN)

LOW HEADROOM MOUNTING CLIPS 
(QTY. 4)

LOW HEADROOM CURVES
 (QTY. 1 PR. )

KNURLED TRACK BOLTS
5/16" X 3/4"
(QTY. 4)

NUTS
5/16".
(QTY. 8)

RESIDENTIAL LOW HEADROOM DOUBLE TRACK KIT COMPONENTS

Allows standard residential hardware (12" headroom) to be converted to low headroom residential 
hardware (minimum 7" headroom )

STEEL-CRAFT
D O O R  P R O D U C T S LT D .



WOOD
JAMB

VERTICAL
TRACK

END BEARING
PLATE

FLAG
ANGLE

WOOD
JAMB

TRACK
BRACKETS

VERTICAL
TRACK

KNURLED
TRACK
BOLT

If working alone, use a ladder or use a rope 
tied to a rafter to temporarily hold up the rear 
of the horizontal tracks.

Fasten the full curve on both right and left 
horizontal track sets to the vertical flag splice 
plates with 5/16" knurled track bolts and 5/16" 
nuts, hand tight. (See Figure 7A) Fasten the front 
of the lowheadroom curve to the end bearing 
plates with 5/16" knurled track bolt and 5/16" nut through the slot in the bearing plate, hand 
tight. (See figure 7.2 next page)

Level the horizontal tracks and set them parallel and square back from door. Fasten the 
punched angle track hangers to the horizontal tracks at the rear with 5/16" knurled track bolts 
and 5/16" nuts. Fasten punched angle to the wood ceiling joist with 1/4" X 1-1/2" lag screws. 
Do not fasten a punched angle sway brace yet. Line up the curved end of the horizontal 
tracks with the top of the vertical tracks and tighten all the bolts and nuts including the 
previously hand tightened bolts.

Affix end bearing plate to vertical flag angle 
using 2 knurlbolts. Ensure bearing faces out 
and up. Bolt the splice plate to the vertical flag 
angle with knurled track bolt to the round hole 
thats 2-11/16" from end of angle. Tighten all 3 
bolts at this time. (See figure 6C) Right hand 
shown.

Cut vertical tracks (straight sections) 12-3/4" 
shorter than door height.

Note: Standard track packages are supplied 
with vertical tracks that are 9-1/2" shorter than 
the door height. This would necessitate cutting 
3-1/4" off a standard vertical.

Assemble vertical tracks as shown. One 
knurled bolt only is required for each track 
bracket. Loosely fasten the track brackets and 
the right and left flag assembly to the vertical 
tracks with 5/16" knurled track bolts and 5/16" 
nuts.

Place the right and left vertical track 
assemblies over the rollers. Allow adequate 
clearance between the vertical tracks and 
the sides of the door. (1/4" end play per side)

The top of the vertical tracks must be set level 
with each other and vertically plumb. Attach 
track brackets to jamb with 5/16" X 1-5/8" lag 
screws. Tighten the vertical track knurl bolts 
now.

STANDARD FULL CURVE

LOW HEADROOM CURVE

5/16 X 1-1/2"
LAG SCREW

Page 2 LHM

Page 4 LHM © Steel-Craft Door Products Ltd.  Rev. 05/19/98  Printed in Canada

FIGURE 6.1 PREPARING TRACK (REPLACES FIGURE 6 ON PAGE 6)

Figure 7A

FIGURE 7.1 INSTALLING HORIZONTAL TRACK (REPLACES FIGURE 7 ON PAGE 6)

INTERMEDIATE
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

1/4" X 1-1/2"
LAG SCREW

SPLICE
PLATE

WOOD
JAMB

VERTICAL
FLAG ANGLE

END BEARING 
PLATE

Page 3 LHM

FIGURE 7.2 ASSEMBLED LOW OVERHEAD CONVERSION

SPLICE PLATE

LOW HEADROOM CURVE

STANDARD FULL CURVE

ADDENDUM TO INSTALLATION INSTRUCTIONS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

PIVOT TUBE

ROLLER TUBE

ROLLER SHAFT

ROLLER#1 HINGE

NOTE:
SLOTS GO UP

#4 HINGE

TOP FIXTURE

#3 HINGE

#2 HINGE

BOTTOM
ROLLER
BRACKET

#1 HINGE

Fasten all of the hinges to the stiles with 1/4" X 
3/4" self drilling screws. The first roller hinges 
have a single pivot tube. The other outside 
roller hinges have two tubes ( one is a pivot 
tube, the other is a roller tube for the roller 
shaft) and are marked #2 & #3. (8' high doors 
have #4 hinges). The #1 roller hinge fastens at 
the top of the #1 door section, above the 
bottom roller bracket. The #2 roller hinge 
fastens at the top of the #2 door section and so 
on. Position the top 
fixture so that the 
roller is flush with top 
of door.

With the door 
stacked in the 
opening and all 
hinges and top 
fixtures attached, 
insert the remaining 
rollers in their 
appropriate places.

#2 #3 #4 ETC.
ROLLER HINGE

4

3

2

1

5

#2

#3

#4

FIGURE 5.1 INSTALLING DOOR FACE HARDWARE (8' door shown) (REPLACES FIGURE 5 ON PAGE 5) FIGURE 6.2 ASSEMBLY OF TOP CURVE SET

ROLLER SHAFT

ROLLER

RESIDENTIAL LOW HEADROOM
MODIFICATION By

DOOR  PRODUCTS  LTD.
STEEL-CRAFT

PUNCHED ANGLE
TRACK HANGER

LIMITED WARRANTY
STEEL-CRAFT DOOR PRODUCTS LTD. (STEEL-CRAFT) warrants each garage door and 
component part to be free from defects in material and workmanship for a period of one 
year from date of delivery to the original purchaser. STEEL-CRAFT reserves the right to 
have authorized personnel inspect any part alleged to be defective and to refuse any returned 
material unless the return was previously authorized by STEEL-CRAFT. STEEL-CRAFT'S 
liability hereunder is limited to replacement of any part found to be defective. Labour 
charges are the responsibility of the customer.
STEEL-CRAFT SHALL NOT BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL 
DAMAGES. ALL OTHER WARRANTIES, EXPRESSED OR IMPLIED, INCLUDING ANY 
IMPLIED WARRANTY OF MERCHANTABILITY ARE HEREBY EXPRESSLY EXCLUDED.

NOTE: MINOR SCRATCHES IN PAINT ARE NOT CONSIDERED DEFECTS.

KNURLED TRACK 
BOLT & 5/16" NUT

5/16"X 3/4"
CARRIAGE

BOLT

5/16"X 3/4"
CARRIAGE

BOLT

CARRIAGE BOLTS
5/16" X 3/4"
(QTY. 4)

TOP FIXTURES
(QTY. 2)
(RH SHOWN)

LOW HEADROOM MOUNTING CLIPS 
(QTY. 4)

LOW HEADROOM CURVES
 (QTY. 1 PR.)

KNURLED TRACK BOLTS
5/16" X 3/4"
(QTY. 4)

NUTS
5/16".
(QTY. 8)

RESIDENTIAL LOW HEADROOM DOUBLE TRACK KIT COMPONENTS

Allows standard residential hardware (12" headroom) to be converted to low headroom residential 
hardware (minimum 7" headroom)

Note: Slots in 
hinges go on top.

7/8"
OFFSET

5/16" X 3/4"
KNURLED TRACK BOLT5/16" X 3/4"

CARRIAGE BOLT

LOW HEADROOM
MOUNTING CLIP

LOW HEADROOM
MOUNTING CLIP

5/16" NUT 5/16" NUT

5/16" X 3/4"
CARRIAGE BOLT

5/16" X 3/4"
KNURLED TRACK BOLT

BOTTOM
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

5/16 X 1-1/2"
LAG SCREW

5/16 X 1-1/2"
LAG SCREW

FLAG ASSEMBLY

VERTICAL FLAG
ANGLE

SPLICE PLATE

VERTICAL
TRACK

Assemble the curved sections of track as shown. Offset the standard full curve and the partial low headroom curve 7/8". Hand 
tighten low headroom mounting clips with 5/16" x 3/4" knurlbolts and nuts to the full curve through the round hole and 5/16" x 
3/4" carriage bolts through the slot to the low headroom curve.

LOW HEADROOM
MOUNTING CLIP

STRAIGHT 
SECTION
OF TRACK IS 
ATTACHED TO 
THE VERTICAL 
JAMB

ROLLER FLUSH 

WITH TOP OF DOOR

Figure 6C

LOW HEADROOM CURVE

STANDARD FULL CURVE

You have completed the modification portion of the installation. Continue with Figure 8 on 
page 7 in the instruction manual to complete your installation.



WOOD
JAMB

VERTICAL
TRACK

END BEARING
PLATE

FLAG
ANGLE

WOOD
JAMB

TRACK
BRACKETS

VERTICAL
TRACK

KNURLED
TRACK
BOLT

If working alone, use a ladder or use a rope 
tied to a rafter to temporarily hold up the rear 
of the horizontal tracks.

Fasten the full curve on both right and left 
horizontal track sets to the vertical flag splice 
plates with 5/16" knurled track bolts and 5/16" 
nuts, hand tight. (See Figure 7A) Fasten the front 
of the lowheadroom curve to the end bearing 
plates with 5/16" knurled track bolt and 5/16" nut through the slot in the bearing plate, hand 
tight. (See figure 7.2 next page)

Level the horizontal tracks and set them parallel and square back from door. Fasten the 
punched angle track hangers to the horizontal tracks at the rear with 5/16" knurled track bolts 
and 5/16" nuts. Fasten punched angle to the wood ceiling joist with 1/4" X 1-1/2" lag screws. 
Do not fasten a punched angle sway brace yet. Line up the curved end of the horizontal 
tracks with the top of the vertical tracks and tighten all the bolts and nuts including the 
previously hand tightened bolts.

Affix end bearing plate to vertical flag angle 
using 2 knurlbolts. Ensure bearing faces out 
and up. Bolt the splice plate to the vertical flag 
angle with knurled track bolt to the round hole 
thats 2-11/16" from end of angle. Tighten all 3 
bolts at this time. (See figure 6C) Right hand 
shown.

Cut vertical tracks (straight sections) 12-3/4" 
shorter than door height.

Note: Standard track packages are supplied 
with vertical tracks that are 9-1/2" shorter than 
the door height. This would necessitate cutting 
3-1/4" off a standard vertical.

Assemble vertical tracks as shown. One 
knurled bolt only is required for each track 
bracket. Loosely fasten the track brackets and 
the right and left flag assembly to the vertical 
tracks with 5/16" knurled track bolts and 5/16" 
nuts.

Place the right and left vertical track 
assemblies over the rollers. Allow adequate 
clearance between the vertical tracks and 
the sides of the door. (1/4" end play per side)

The top of the vertical tracks must be set level 
with each other and vertically plumb. Attach 
track brackets to jamb with 5/16" X 1-5/8" lag 
screws. Tighten the vertical track knurl bolts 
now.

STANDARD FULL CURVE

LOW HEADROOM CURVE

5/16 X 1-1/2"
LAG SCREW

Page 2 LHM

Page 4 LHM © Steel-Craft Door Products Ltd.  Rev. 05/19/98  Printed in Canada

FIGURE 6.1 PREPARING TRACK (REPLACES FIGURE 6 ON PAGE 6)

Figure 7A

FIGURE 7.1 INSTALLING HORIZONTAL TRACK (REPLACES FIGURE 7 ON PAGE 6)

INTERMEDIATE
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

1/4" X 1-1/2"
LAG SCREW

SPLICE
PLATE

WOOD
JAMB

VERTICAL
FLAG ANGLE

END BEARING 
PLATE

Page 3 LHM

FIGURE 7.2 ASSEMBLED LOW OVERHEAD CONVERSION

SPLICE PLATE

LOW HEADROOM CURVE

STANDARD FULL CURVE

ADDENDUM TO INSTALLATION INSTRUCTIONS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

PIVOT TUBE

ROLLER TUBE

ROLLER SHAFT

ROLLER#1 HINGE

NOTE:
SLOTS GO UP

#4 HINGE

TOP FIXTURE

#3 HINGE

#2 HINGE

BOTTOM
ROLLER
BRACKET

#1 HINGE

Fasten all of the hinges to the stiles with 1/4" X 
3/4" self drilling screws. The first roller hinges 
have a single pivot tube. The other outside 
roller hinges have two tubes ( one is a pivot 
tube, the other is a roller tube for the roller 
shaft) and are marked #2 & #3. (8' high doors 
have #4 hinges). The #1 roller hinge fastens at 
the top of the #1 door section, above the 
bottom roller bracket. The #2 roller hinge 
fastens at the top of the #2 door section and so 
on. Position the top 
fixture so that the 
roller is flush with top 
of door.

With the door 
stacked in the 
opening and all 
hinges and top 
fixtures attached, 
insert the remaining 
rollers in their 
appropriate places.

#2 #3 #4 ETC.
ROLLER HINGE

4

3

2

1

5

#2

#3

#4

FIGURE 5.1 INSTALLING DOOR FACE HARDWARE (8' door shown) (REPLACES FIGURE 5 ON PAGE 5) FIGURE 6.2 ASSEMBLY OF TOP CURVE SET

ROLLER SHAFT

ROLLER

RESIDENTIAL LOW HEADROOM
MODIFICATION By

DOOR  PRODUCTS  LTD.
STEEL-CRAFT

PUNCHED ANGLE
TRACK HANGER

LIMITED WARRANTY
STEEL-CRAFT DOOR PRODUCTS LTD. (STEEL-CRAFT) warrants each garage door and 
component part to be free from defects in material and workmanship for a period of one 
year from date of delivery to the original purchaser. STEEL-CRAFT reserves the right to 
have authorized personnel inspect any part alleged to be defective and to refuse any returned 
material unless the return was previously authorized by STEEL-CRAFT. STEEL-CRAFT'S 
liability hereunder is limited to replacement of any part found to be defective. Labour 
charges are the responsibility of the customer.
STEEL-CRAFT SHALL NOT BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL 
DAMAGES. ALL OTHER WARRANTIES, EXPRESSED OR IMPLIED, INCLUDING ANY 
IMPLIED WARRANTY OF MERCHANTABILITY ARE HEREBY EXPRESSLY EXCLUDED.

NOTE: MINOR SCRATCHES IN PAINT ARE NOT CONSIDERED DEFECTS.

KNURLED TRACK 
BOLT & 5/16" NUT

5/16"X 3/4"
CARRIAGE

BOLT

5/16"X 3/4"
CARRIAGE

BOLT

CARRIAGE BOLTS
5/16" X 3/4"
(QTY. 4)

TOP FIXTURES
(QTY. 2)
(RH SHOWN)

LOW HEADROOM MOUNTING CLIPS 
(QTY. 4)

LOW HEADROOM CURVES
 (QTY. 1 PR.)

KNURLED TRACK BOLTS
5/16" X 3/4"
(QTY. 4)

NUTS
5/16".
(QTY. 8)

RESIDENTIAL LOW HEADROOM DOUBLE TRACK KIT COMPONENTS

Allows standard residential hardware (12" headroom) to be converted to low headroom residential 
hardware (minimum 7" headroom)

Note: Slots in 
hinges go on top.

7/8"
OFFSET

5/16" X 3/4"
KNURLED TRACK BOLT5/16" X 3/4"

CARRIAGE BOLT

LOW HEADROOM
MOUNTING CLIP

LOW HEADROOM
MOUNTING CLIP

5/16" NUT 5/16" NUT

5/16" X 3/4"
CARRIAGE BOLT

5/16" X 3/4"
KNURLED TRACK BOLT

BOTTOM
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

5/16 X 1-1/2"
LAG SCREW

5/16 X 1-1/2"
LAG SCREW

FLAG ASSEMBLY

VERTICAL FLAG
ANGLE

SPLICE PLATE

VERTICAL
TRACK

Assemble the curved sections of track as shown. Offset the standard full curve and the partial low headroom curve 7/8". Hand 
tighten low headroom mounting clips with 5/16" x 3/4" knurlbolts and nuts to the full curve through the round hole and 5/16" x 
3/4" carriage bolts through the slot to the low headroom curve.

LOW HEADROOM
MOUNTING CLIP

STRAIGHT 
SECTION
OF TRACK IS 
ATTACHED TO 
THE VERTICAL 
JAMB

ROLLER FLUSH 

WITH TOP OF DOOR

Figure 6C

LOW HEADROOM CURVE

STANDARD FULL CURVE

You have completed the modification portion of the installation. Continue with Figure 8 on 
page 7 in the instruction manual to complete your installation.



WOOD
JAMB

VERTICAL
TRACK

END BEARING
PLATE

FLAG
ANGLE

WOOD
JAMB

TRACK
BRACKETS

VERTICAL
TRACK

KNURLED
TRACK
BOLT

If working alone, use a ladder or use a rope 
tied to a rafter to temporarily hold up the rear 
of the horizontal tracks.

Fasten the full curve on both right and left 
horizontal track sets to the vertical flag splice 
plates with 5/16" knurled track bolts and 5/16" 
nuts, hand tight. (See Figure 7A) Fasten the front 
of the lowheadroom curve to the end bearing 
plates with 5/16" knurled track bolt and 5/16" nut through the slot in the bearing plate, hand 
tight. (See figure 7.2 next page)

Level the horizontal tracks and set them parallel and square back from door. Fasten the 
punched angle track hangers to the horizontal tracks at the rear with 5/16" knurled track bolts 
and 5/16" nuts. Fasten punched angle to the wood ceiling joist with 1/4" X 1-1/2" lag screws. 
Do not fasten a punched angle sway brace yet. Line up the curved end of the horizontal 
tracks with the top of the vertical tracks and tighten all the bolts and nuts including the 
previously hand tightened bolts.

Affix end bearing plate to vertical flag angle 
using 2 knurlbolts. Ensure bearing faces out 
and up. Bolt the splice plate to the vertical flag 
angle with knurled track bolt to the round hole 
thats 2-11/16" from end of angle. Tighten all 3 
bolts at this time. (See figure 6C) Right hand 
shown.

Cut vertical tracks (straight sections) 12-3/4" 
shorter than door height.

Note: Standard track packages are supplied 
with vertical tracks that are 9-1/2" shorter than 
the door height. This would necessitate cutting 
3-1/4" off a standard vertical.

Assemble vertical tracks as shown. One 
knurled bolt only is required for each track 
bracket. Loosely fasten the track brackets and 
the right and left flag assembly to the vertical 
tracks with 5/16" knurled track bolts and 5/16" 
nuts.

Place the right and left vertical track 
assemblies over the rollers. Allow adequate 
clearance between the vertical tracks and 
the sides of the door. (1/4" end play per side)

The top of the vertical tracks must be set level 
with each other and vertically plumb. Attach 
track brackets to jamb with 5/16" X 1-5/8" lag 
screws. Tighten the vertical track knurl bolts 
now.

STANDARD FULL CURVE

LOW HEADROOM CURVE

5/16 X 1-1/2"
LAG SCREW

Page 2 LHM

Page 4 LHM © Steel-Craft Door Products Ltd.  Rev. 05/19/98  Printed in Canada

FIGURE 6.1 PREPARING TRACK (REPLACES FIGURE 6 ON PAGE 6)

Figure 7A

FIGURE 7.1 INSTALLING HORIZONTAL TRACK (REPLACES FIGURE 7 ON PAGE 6)

INTERMEDIATE
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

1/4" X 1-1/2"
LAG SCREW

SPLICE
PLATE

WOOD
JAMB

VERTICAL
FLAG ANGLE

END BEARING 
PLATE

Page 3 LHM

FIGURE 7.2 ASSEMBLED LOW OVERHEAD CONVERSION

SPLICE PLATE

LOW HEADROOM CURVE

STANDARD FULL CURVE

ADDENDUM TO INSTALLATION INSTRUCTIONS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

1/4" X 3/4"
SELF DRILLING
SCREWS

PIVOT TUBE

ROLLER TUBE

ROLLER SHAFT

ROLLER#1 HINGE

NOTE:
SLOTS GO UP

#4 HINGE

TOP FIXTURE

#3 HINGE

#2 HINGE

BOTTOM
ROLLER
BRACKET

#1 HINGE

Fasten all of the hinges to the stiles with 1/4" X 
3/4" self drilling screws. The first roller hinges 
have a single pivot tube. The other outside 
roller hinges have two tubes ( one is a pivot 
tube, the other is a roller tube for the roller 
shaft) and are marked #2 & #3. (8' high doors 
have #4 hinges). The #1 roller hinge fastens at 
the top of the #1 door section, above the 
bottom roller bracket. The #2 roller hinge 
fastens at the top of the #2 door section and so 
on. Position the top 
fixture so that the 
roller is flush with top 
of door.

With the door 
stacked in the 
opening and all 
hinges and top 
fixtures attached, 
insert the remaining 
rollers in their 
appropriate places.

#2 #3 #4 ETC.
ROLLER HINGE

4

3

2

1

5

#2

#3

#4

FIGURE 5.1 INSTALLING DOOR FACE HARDWARE (8' door shown) (REPLACES FIGURE 5 ON PAGE 5) FIGURE 6.2 ASSEMBLY OF TOP CURVE SET

ROLLER SHAFT

ROLLER

RESIDENTIAL LOW HEADROOM
MODIFICATION By

DOOR  PRODUCTS  LTD.
STEEL-CRAFT

PUNCHED ANGLE
TRACK HANGER

LIMITED WARRANTY
STEEL-CRAFT DOOR PRODUCTS LTD. (STEEL-CRAFT) warrants each garage door and 
component part to be free from defects in material and workmanship for a period of one 
year from date of delivery to the original purchaser. STEEL-CRAFT reserves the right to 
have authorized personnel inspect any part alleged to be defective and to refuse any returned 
material unless the return was previously authorized by STEEL-CRAFT. STEEL-CRAFT'S 
liability hereunder is limited to replacement of any part found to be defective. Labour 
charges are the responsibility of the customer.
STEEL-CRAFT SHALL NOT BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL 
DAMAGES. ALL OTHER WARRANTIES, EXPRESSED OR IMPLIED, INCLUDING ANY 
IMPLIED WARRANTY OF MERCHANTABILITY ARE HEREBY EXPRESSLY EXCLUDED.

NOTE: MINOR SCRATCHES IN PAINT ARE NOT CONSIDERED DEFECTS.

KNURLED TRACK 
BOLT & 5/16" NUT

5/16"X 3/4"
CARRIAGE

BOLT

5/16"X 3/4"
CARRIAGE

BOLT

CARRIAGE BOLTS
5/16" X 3/4"
(QTY. 4)

TOP FIXTURES
(QTY. 2)
(RH SHOWN)

LOW HEADROOM MOUNTING CLIPS 
(QTY. 4)

LOW HEADROOM CURVES
 (QTY. 1 PR.)

KNURLED TRACK BOLTS
5/16" X 3/4"
(QTY. 4)

NUTS
5/16".
(QTY. 8)

RESIDENTIAL LOW HEADROOM DOUBLE TRACK KIT COMPONENTS

Allows standard residential hardware (12" headroom) to be converted to low headroom residential 
hardware (minimum 7" headroom)

Note: Slots in 
hinges go on top.

7/8"
OFFSET

5/16" X 3/4"
KNURLED TRACK BOLT5/16" X 3/4"

CARRIAGE BOLT

LOW HEADROOM
MOUNTING CLIP

LOW HEADROOM
MOUNTING CLIP

5/16" NUT 5/16" NUT

5/16" X 3/4"
CARRIAGE BOLT

5/16" X 3/4"
KNURLED TRACK BOLT

BOTTOM
TRACK BRACKET

KNURLED TRACK 
BOLT & 5/16" NUT

5/16 X 1-1/2"
LAG SCREW

5/16 X 1-1/2"
LAG SCREW

FLAG ASSEMBLY

VERTICAL FLAG
ANGLE

SPLICE PLATE

VERTICAL
TRACK

Assemble the curved sections of track as shown. Offset the standard full curve and the partial low headroom curve 7/8". Hand 
tighten low headroom mounting clips with 5/16" x 3/4" knurlbolts and nuts to the full curve through the round hole and 5/16" x 
3/4" carriage bolts through the slot to the low headroom curve.

LOW HEADROOM
MOUNTING CLIP

STRAIGHT 
SECTION
OF TRACK IS 
ATTACHED TO 
THE VERTICAL 
JAMB

ROLLER FLUSH 

WITH TOP OF DOOR

Figure 6C

LOW HEADROOM CURVE

STANDARD FULL CURVE

You have completed the modification portion of the installation. Continue with Figure 8 on 
page 7 in the instruction manual to complete your installation.




